
1

3

4

5

6
9

10

9

8

13

7

14
1 122100-104 Key Pad, Display, CapVeiw II, Port 1

1122100-0032 Front Cover, Display, CapVeiw II
122100-0063 Screen, Display, CapVeiw II 1

4 PCB Assy, CapVeiw II122100-011 1
Ribbon Cable, 33 Pin,CapVeiw II122100-0055 1

1122100-0076 Back Cover, Display, CapVeiw II
7 29O-Ring,Sponge, Display708022-093

1122100-002 Decal, Serial, Display, CapVeiw II8
Screw, 4-40 x 1/4 PH Phillips 99 708992-101
ScrewLock, 4-40 M/F, Hex 810 120140-009

11
Screw 6-19 x 5/8 Plastite 212 709031-203
Screw 4-40 x 3/8 PH Phillips 213 708992-102
SD Card, 4G 114 120040-001

115
1Packing Box16

BLS 8/22/18          Capview II
     PP II, Portuguese

122100-101 A

A Production Release 8/22/18 BLS

Can Connection

USB Connection

GPS/AUX Connection

12

Back Mount
to Board

Back Mount
to Board

Notes:

 1. Boot Code: Boot.Hex.

 2. Application Code: 4.11.txt.

Foam Set, CapView II

2

Board to
Front Cover

2336

10
10

10

Board to
Front Cover

9

9

Board to
Screen

Board to
Screen

S1000-111
S1000-112

4709031-803 Screw 10-24 x 1/2 PanHd Philips

17 912200-411 Application Code 4.11 1

Rev   ECR                    Description                            Date       By   AppPROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
CAPSTAN AG INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT WRITTEN PERMISSION OF CAPSTAN AG INC IS PROHIBITED

SCALE:

SIZE

None
B

Item Part Number Description

REVDWG No:

TITLE:Name Date

Drawn

Checked

QA APP

Qty

SHEET 1 of 1


	Sheet1
	Drawing View1


